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RFL 9.40 M
2~3FL 3.00 M
1FL 3.20 M (GL+0.20 M)
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I IF-RF B E
(1D1. Ocm Bk ik ) s 5 20kg/m°x 1.0 = 20 kg/m’
(2)1. Sem B~k ik ) B . 20kg/m°x 1.5 = 30 kg/m’
(3)2. 0cm Bk ik 7) s 5 20kg/m°x 2.0 = 40 kg/m’
(DO 78: 30 kg/m’

(G)= = 2 2w 20 kg/m”

ik

(6)15cm 5 R. C. #4% : 2400kg/m’x 0.150 = 360 kg/m’
2
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VI.

VII.

SER Al
1.iREY PR R e =280kg/cm’(3000psi)

1. 4D

1. 2D+1
1. 2D+1
1. 2D+1
1. 2D+1

0. 9D+1.
0. 9D+1.

(T)17cm 5 R. C. ¥4 : 2400kg/m’x 0. 170

(8)20cm & R.C. #4 : 2400kg/m’ x 0.200

(9)25cm 5 R. C. ¥4 : 2400kg/m’ x 0. 250
2. EPE: Gz 200 keg/ME

. 6L+0. oLr

. 6Lr+1. OL

.6W+ 1. 0L+0. bLr
. 0E+1. OL

oW

0

=2800000kg/M*

408 kg/m’
480 kg/m’
600 kg/m’

2. 4% 55 "% K5 & :a. Fy=2800kg/cm*(#3~#5 ¥ i 4% %)

3. 3B+ - #: Ec=265658kg/cm’=26565800000kg/M’
A p=0.15

4. &

=28000000kg/M°

b. Fy=4200kg/cm*(£6( 3 )14 ¥ B 4% 55)

=42000000kg/M°

5. ¥ =84 & £ :W=2400kg/M’

6. ¥ 484 1 £ :M=244. 6kg/M’ - S/W’
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-1 nEEH e - HEhz K3 kT @4 d R BES) =
0.728P=0.4 1% 10k Pz fyixP2 b3 F kT
feig B B SY =0.9 & Sy =0.50

2. % % i 1=1.0

LE R B D MEFE LA 2E Sy =550

e X e 3.62cm Y # :2. 64cm
FRAP 2B BIEAEE A
Aws=0.6 (1.4aR.) =2.52
X e B~ W E =45 =2. 52%3. 165=T. 97
Y o B~ L E A5 =2, 52%2. 332=5. 87
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